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Solution to Previous TAH



QUESTION [JEE Mains 2025 (3 April) ] )

7D N
()
111

Letaq,a,,as, ... be a G.P. of increasing positive numbers. If azas = 729 and a, + a, = e
then 24(a; + a, + a3) is equal to
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QUESTION [JEE Mains 2023 (29 Jan)] >

Let a;,a,,as, ... be a G.P. of increasing positive numbers. If the product of fourth and
sixth terms is 9 and the sum of fifth and seventh terms is 24, then
ai;ag + arasag + asg + a- is equal to

Ans. 60
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QUESTION [JEE Mains 2024 (8 April) ] )

In an increasing geometric progression of positive terms, the sum of the second and

70
sixth terms is ey and the product of the third and fifth terms is 49. Then the sum of the

4th 6th and 8t terms is equal to:
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Solution to Previous KTKs



QUESTION ) @

The number of terms common to the two A.P’s 3,7, 11, ..., 407 and 2, 9, 16, ....., 709 is

Ans. 14
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QUESTION [JEE Mains 2024 (6 April) ] )

For A= {n € [100,700] N N : n is neither a multiple of 3 nor a multiple of 4}.
Then the number of elements in A is

@ 290

280
@ 300
(®

310
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QUESTION [JEE Mains 2023 (29 Jan)] >

Let {ax} and {by},k € N, be two G.P.s with common ratios r; and r, respectively such

thata; = b; =4andr; <r,.Letcy =ap + by, K€ N.If c, = 5 and c; =$then

co

z cxy — (12a4 + 8b,) is equal to
k=1
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QUESTION [JEE Mains 2024 (6 April) ] >

Uio+Vv2U
Let o, B be roots of x> + v2x — 8 = 0. If U, = a™ + BY, then 1021;/— 2 is equal to

8

Ans. 4
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QUESTION )

If m™ term of an A.P.is n & nt" term is m, then show that its (m + n)® term is zero.
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QUESTION [JEE Mains 2025 (24 Jan)] )

In an arithmetic progression, if S, = 1030 and S;, = 57, then S37 — S; is equal to:
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QUESTION [JEE Mains 2025 (23 Jan)] ) @

The roots of the quadratic equation 3x* — px+ q =0 are 10* and 11* terms of an

arithmetic progression with common difference > If the sum of the first 11 terms of this

arithmetic progression is 88, then q — 2p is equal to

Ans. 474
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QUESTION [JEE Mains 2025 (22 Jan)] >

Suppose that the number of terms in an A.P. is 2k, k € N. If the sum of all odd terms of
the A.P. is 40, the sum of all even terms is 55 and the last term of the A.P. exceeds the
first term by 27, then k is equal to:
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Ans. D
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QUESTION [JEE Mains 2025 (23 Jan)] )

[f the first term of an A.P. is 3 and the sum of its first four terms is equal to one-fifth of
the sum of the next four terms, then the sum of the first 20 terms is equal to
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QUESTION [JEE Mains 2024 (30 Jan)] )

Let S, denote the sum of first n terms of an arithmetic progression.
IfS,,=790and S, = 145, then S, - Sc is:
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